Lecture 8

Half of Chapter 11

e Planned investment depends on the interest
rate (1)

e The AS curve
* The IS curve

e The Fed rule—introduction
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NOTATION
Y output or income
» ' consumption
e [ investment

e (G government purchases of goods and ser-
vices

* T'R government spending on transfer pay-
ments (a negative tax)

* { tax rate

« TAX taxes

e T net taxes (I'AX — TR)

* Y, disposable income (Y — T)

e r Interest rate



MULTIPLIER MODEL, T ENDOGE-
NOUS, I ENDOGENOUS

eY; =Y — T Definition

e (' =a+0bY; Behavioral

e/ =d—e-r Behavioral

oY =C+1+G Equilibrium condition

e TAX =tY Behavioral

e I'=TAX —TR Definition
SOLUTION

Y=C+I+G
=a+bY —-tY+TR)+d—e-7+G
Reduced forrn equation if r exogenous
= —7 TR+ —+G+

T 1- b—l—bt 1- b+bt
11— b+bt

1- b+bt 1- b+bt

Note that r» has a negative effect on Y in the
reduced form equation.



Ifb=.75and ¢ = 3, then ———— = 2

o 1—.75+.25
and 555 = 1.5

Fed Rule

r=aY +pP+~vZ



